Obdopynosanue ELITECH

< 7 -
107370, Poccuni, Mockea, OTKpsITOE 11I., 1.12, cTpP.35 E L ITEc H

Ten./parxc 745-8888, 745-8937

8 //s
5
26 30

9

21

b
23
22




3181.00.00.000 KJIC

KP3095/500/7,5T | 380B,50Tu | 10 6ap
Karanor geraneit 1 cOOpOUHBIX €TUHUII
Io3. Koa. Ne yeprexka HaumenoBanue Ko
1. 0702.023100 4042100700 DJieKTpoABUrarelb, 7,5 kBt 1
2. 0702.020600 4301300020 Pemens B1900 2
3. 0702.010800 3181.00.00.104 IkuB 1
4. 0702.014600 3106.00.00.101 [Tpmxum 1
5. 0702.006900 aii6a 10.65T° 9
6. 0702.006600 Bboar M10x20 1
7. 0702.002600 boar M10x35 4
8. 0702.001100 [aii6a 10 20
0. 0702.000700 ["aiika M10 8
10. | 0702.018900 4996111673 [Tpeccoctar MDR3 1
11. |0702.021400 4251100202 Knanan npenoxpaHuTtenbHbIN 1
12. |1 0702.016000 3101.00.00.201 [TepexoaHuk 1
13. |1 0702.015800 3101.00.00.203 3armymika 2
14. | 0702.022300 4141401600 ManomeTtp 1
15. |1 0702.016900 3040.00.00.048 3arnymika 1
16. |0702.021200 4271000203 AMopTH3aTOp 4
17. 10702.001200 [aiiba 12 10
18. |1 0702.000100 boar M10x25 4
19. 10702.012400 3131.00.00.110-02 [Tnatdopma 1
20. |0702.020000 4490000000 Tpy6ka Rilsan 1
21. |0702.000900 ["aiika M6 5
22. 10702.001300 [I1aii6a 6 1
23. 10702.001400 [Iaii6a 6, 65T 1
24. 1 0702.022700 4121001000 KonnaencatooTBOIUNK 1
25. 10702.017000 3023.00.00.000 PecuBep 1
26. |0702.014700 3106.00.00.021 [TepexogHuK 1
27. 10702.007200 boar M12x30 6
28. 10702.010700 3181.00.00.400 Boszayxonposon 1
29. 10702.021700 4241343102 Knanan obpaTHblit 1
30. | 0702.022800 4111334000 Kpan 1
31. | 0702.007000 boar M10x45 4
32. 1 0702.019400 4871402590 ITpoBon 2
33. | 0702.023800 4023430120 bnok nopurnesoit TC3095 1
34. | 0702.012500 3131.00.00.002 Pacniopka 1
35. 10702.020300 4350020002 3amenka 6
36. | 0702.000300 boar M6x16 7
37. 10702.001500 [ITaii6a 6x18 11
38. 10702.012300 3131.00.00.200 OcHoBaHue 1
39. 10702.012200 3131.00.00.300 Kppimka 1
40. |0702.020200 4381003500 Yka3zarenb 1
41. 10702.021900 4170600601 Coenunenne A-L-6-1/8"-11B 1
42. 10702.010100 BK75.00.00.006 [Mepexoanauk 1"x1" 1
43. 10702.010300 3304.00.00.027 IMepexoanuk 1"x1" 1




